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Unit 4 Outcome 1, Task 1a – Structured Questions

Teacher Advice
This task has been developed within the scope of the Study Design and has been designed to be easily divided into two tasks worth 25 marks each (see below for where the SAC is divided into two parts). To complete the SAC in one part (worth 50 marks), simply delete the cover sheet for part 2. 
The relevant dot points from the Study Design for this task are:
Key knowledge 
· characteristics of high- , middle- and low-income countries
· similarities and differences in health status and burden of disease in low- , middle- and high-income countries, including AustraliaQ 1 – 3 

· factors that contribute to similarities and differences in health status and burden of disease, including access to safe water; sanitation; poverty; inequality and discrimination (race, religion, sex, sexual orientation and gender identity); and global distribution and marketing of tobacco, alcohol and processed foods
· the concept and dimensions of sustainability (environmental, social, economic) and its role in the promotion of health and wellbeing
· the concept of human development, including advantages and limitations of the Human Development Index
· implications for health and wellbeing of global trends including:Q 4 – 6

· climate change (rising sea levels, changing weather patterns and more extreme weather events)
· conflict and mass migration
· increased world trade and tourism
· digital technologies that enable increased knowledge sharing.

Key skills

· describe characteristics of high-, middle- and low-income countries
· evaluate data to analyse similarities and differences between countries in relation to health status and burden of diseaseQ 1 – 3 

· analyse factors that contribute to health status and burden of disease in different countries and discuss their impact on health and wellbeing
· compare health data and other information to analyse reasons for health inequalities within and between nations
· explain sustainability (environmental, social, economic) and its importance in the promotion of health and wellbeing in a global contextQ 4 – 6 

· explain the Human Development Index and evaluate its usefulness in measuring human development of countries
· analyse the implications for health and wellbeing of particular global trends.

Student preparation
Students should be adequately prepared with regards to all relevant key knowledge and key skills dot points before sitting the task. Teachers should read through SAC tasks prior to students completing the task to ensure all relevant content has been addressed.
As well as having an understanding of key knowledge points and the ability to carry out the key skills, students should be able to explain or define all words within the dot points. 
When presented with data, the data should be used at some stage in the related answers. This shows a greater level of understanding of data as opposed to making generalised comments. 
If a question asks for similarities or differences between population groups, students should make reference to both groups in their answer. 
Students should be aware of the difference between health status and factors affecting health status. If a question is about health status, students should link their answer back to a health status indicator or a particular condition. For example, socioeconomic status is an example of a sociocultural factor, not an aspect of health status. 
When students are asked to link to health and wellbeing, the dimensions (physical, social, emotional, mental and / or spiritual) should form the basis of the response. 
Creating one 50 mark task
This SAC has been created to allow simple conversion into 1 x 50 mark task - simply delete the cover sheet for Part 2. 
Time
This SAC has been developed to be completed in a 60 minute timeframe. Teachers may want to add reading time to simulate the end-of-year examination. It can also be split into two tasks (worth 25 marks each) if smaller tasks are preferable. If so, these tasks should be completed in a 30 minute timeframe. 
Materials
Students only require a pen to complete this task. 
Conditions
This task should be completed under test conditions. It has been written to reflect the end-of-year examination and provides valuable practice for the skills required to succeed in the examination. 
Students should not have access to any notes, mobile phones, calculators or any other electronic device. 
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• Students are permitted to bring into the assessment room: pens, pencils, highlighters, erasers, sharpeners and rulers.
• Students are NOT permitted to bring into the assessment room: blank sheets of paper and/or white out liquid/tape.
• No calculator is allowed in this assessment.

Materials supplied
• Question and answer booklet.
• Additional space is available at the end of the booklet if you need extra paper to complete an answer. Ensure any extra space used is labelled clearly with the question number. 

Instructions
• Write your name and student number in the space provided above on this page.
• All written responses must be in English.




Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic
devices into the assessment room.

This assessment task (including teacher advice and answer guide) remain the copyright of the Health Teachers’ Network. Schools that have purchased this task are authorised to reproduce it for use within their school only. Any other use or reproduction of this task without the permission of the Health Teachers’ Network is prohibited. 
Question 1  (6 marks)

a. Briefly describe the World Bank income group system of classifying countries. 		                     2 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Identify two characteristics common among low-income countries compared to Australia and explain 
how each contributes to the differences in average income between the two countries.                            4 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________

























Question 2  (7 marks)

The following graph shows the rate of DALY (per 100 000) due to high body mass index in Australia and the various income groups over time. 

Source: Adapted from IHME, 2019. 
a. Identify the income group that experienced the greatest increase in DALY per 100 000 due to high 
body mass index over time. 							                                   1 mark

___________________________________________________________________________________
b. Outline one similarity and one difference between high- and low-income countries as shown in the 
graph. 									                                               2 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Explain reasons for the similarity and difference outlined in part b.                                                          4 marks 

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
Question 3  (12 marks)

a. Briefly explain the difference between inequality and discrimination. 			                     2 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
Sex is a characteristic that is often the basis for discrimination. 
b. Briefly explain how discrimination based on sex contributes to two variations in burden of disease.      4 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Identify two other characteristics that are often the basis for discrimination. 		                     2 marks

___________________________________________________________________________________
___________________________________________________________________________________
d. Discuss the contribution of discrimination to differences in health status. 		                                  4 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
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• Students are permitted to bring into the assessment room: pens, pencils, highlighters, erasers, sharpeners and rulers.
• Students are NOT permitted to bring into the assessment room: blank sheets of paper and/or white out liquid/tape.
• No calculator is allowed in this assessment.

Materials supplied
• Question and answer booklet.
• Additional space is available at the end of the booklet if you need extra paper to complete an answer. Ensure any extra space used is labelled clearly with the question number. 

Instructions
• Write your name and student number in the space provided above on this page.
• All written responses must be in English.




Students are NOT permitted to bring mobile phones and/or any other unauthorised electronic
devices into the assessment room.

This assessment task (including teacher advice and answer guide) remain the copyright of the Health Teachers’ Network. Schools that have purchased this task are authorised to reproduce it for use within their school only. Any other use or reproduction of this task without the permission of the Health Teachers’ Network is prohibited. 
Question 4  (12 marks)
Two indicators used to calculate the Human Development Index (HDI) are mean and expected years of schooling. 
a. Briefly describe the difference between mean and expected years of schooling. 		                     2 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
b. Briefly explain the concept of human development. 					                     3 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
c. Discuss how having a higher ‘mean years of schooling’ could influence the level of human development experienced in a country. 								                     3 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
d. Identify and briefly describe another indicator used to calculate the HDI. 		                                  2 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
	


e. Outline two limitations of the HDI in measuring human development. 			                     2 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
Question 5  (3 marks)
Briefly explain what is meant by social sustainability and explain how it can assist in promoting health and wellbeing. 										                                 

______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________
______________________________________________________________________________________





























Question 6  (10 marks)

The following graph shows the total number of armed conflicts globally from 2010 to 2017. 

Source: Adapted from https://ucdp.uu.se/#/
a. Using data, briefly describe the change in the number of armed conflicts between 2010 and 2017.         2 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
One of the main impacts of conflict is mass migration. 

b. Briefly explain how mass migration can impact physical and spiritual health and wellbeing.                  4 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________


c. Besides mass migration, explain two ways that conflict can impact health and wellbeing.                       4 marks

___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________
___________________________________________________________________________________































END OF QUESTION AND ANSWER BOOKLET
Extra space for responses
Clearly number all responses in this space.
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________
__________________________________________________________________________________

Answer Guide
Please note that these answers are a guide only and do not represent every possible correct answer. 

1. a. Students receive two marks for making two points about the World Bank income grouping system of classifying countries. Points worth one mark include: 

· This system uses the gross national income per capita of countries to classify them. 
· There are thresholds (cut-off points) that have been established to classify countries. 
· Countries can be classified into one of three main groups: low-income, middle-income and high-income. 

b. Students receive two marks for identifying two characteristics of low-income countries compared to Australia and a further two marks for linking each characteristic to differences in income between the two. There are many characteristics that students can use for this. Examples worth two marks include: 

1. Levels of gender equality are often lower in low-income countries compared to Australia. This can mean that half of the population are not prioritised in relation to education and paid employment which can reduce average incomes.   
1. Levels of education are often lower in low-income countries compared to Australia. This reduces the productivity of the population, contributing to lower average incomes.  
1. Infrastructure is well established in Australia compared to low-income countries.  This can mean that Australia has a greater ability to transport goods and trade on the global market, increasing our economy and average incomes. 
1. Rates of communicable (or infectious diseases) are often higher in low-income countries compared to Australia.  This can limit the ability of people to work productively which can reduce average incomes. 
1. Access to health care is often low in low-income countries compared to Australia. This can contribute to more ill-health which can mean that people are not as able to attend school or work productively, contributing to lower incomes. 
1. Low-income countries often have fewer industries than Australia. This can mean that forces such as weather patterns can interrupt the industries they do have, contributing to lower incomes.  

2. a. One mark is awarded for identifying ‘upper middle-income’ countries / group’. 

b. One mark is awarded for a similarity and one mark for a difference between high- and low-income countries. Note that data does not have to be used to be eligible for full marks. Answers worth one mark include: 

· The rate of DALY (per 100 000) due to high body mass index has increased for both low- and high-income countries over time. 
· High-income countries have a significantly higher rate of DALY due to high body mass index than low-income countries. 










c. Students receive two marks for each reason they link to the similarity and difference for a total of four marks. Note that if students do not provide some explanation, they may only have done enough for 1 mark for each reason. Answers worth two marks include: 

· Many people in high-income countries have less time to prepare meals than they did in the past, meaning they are more likely to consume energy-dense processed foods which can contribute to weight gain and DALY due to high body mass index. Average incomes have increased in many low-income countries, meaning there may be more money for processed foods which can increase overweight and obesity and the associated DALY. 
· Processed food companies have been marketing their goods in both low- and high-income countries. This could contribute to an increase in the proportion of these foods that are consumed. Many are energy dense which can contribute to higher rates of high body mass index and associated DALY. 
· High-income countries have more disposable income than those in low-income countries. This can mean that they have more to spend on energy-dense food than those in low-income countries, contributing to a higher rate of DALY due to high body mass index. 
· Many people in high-income countries have greater access to technology that does not promote physical activity such as computer games, than those in low-income countries. This can mean that levels of physical activity are lower, contributing to higher rates of DALY due to high body mass index. 

3. a. Students receive one mark for showing an understanding of each term for a total of two marks. For example:

Inequality relates to people not experiencing equal opportunity, treatment or outcomes. Discrimination on the other hand, relates to people being treated worse than others. 

b. Students receive two marks for each way they explain that sex discrimination can contribute to variations in burden of disease. Note that students do not necessarily have to link their response to any type of country. Examples worth two marks include:  
						       
· Sex discrimination can mean that some females do not have the opportunity to attend school. This can contribute to poverty which can mean that health care is not accessible. This can mean that conditions go untreated, increasing DALY. 
· Sex discrimination can mean that women in low-income countries do not have a say in relation to if and when they have sex with their husband. This can mean that they are more exposed to HIV/AIDS which increases DALY.  
· Sex discrimination can mean that women don’t receive adequate nourishment. This can mean that immune system function is compromised, contributing to higher rates of YLL and YLD due to infectious diseases, compared to those who are not discriminated against.  
· Sex discrimination can mean that women do not have a say in relation to if and when they get married or have children. This can mean that more girls experiencing discrimination get married and become pregnant before their bodies are equipped to deal with it. This increases the rate of maternal mortality and contributes more YLL. 

c. Students receive one mark for each characteristic they identify for a total of two marks. Note that responses for this question do not necessarily have to come from the list identified in the Study Design, but students will find it more difficult to answer the next part of this question if they choose a different characteristic. Answers worth one mark include: 

· Race
· Religion 
· Sexual orientation 
· Gender identity
· Disability
d. Students receive marks for linking discrimination to variations in health status. Students do not have to make reference to a particular type of country. Students can make more brief points or fewer detailed points for full marks. Note that marks should not be awarded if students ‘double dip’ by using the same answers used for part b. Answers worth two marks include: 

· People experiencing discrimination may be refused health care. This can mean that vaccines are not accessible which can increase the incidence of infectious diseases. 
· Discrimination can contribute to higher rates of risk taking behaviours including alcohol and drug use. This can contribute to higher rates of mental health issues such as psychosis. 
· People experiencing discrimination may not be recognised by the government of the country in which they live. This can mean that they are not able to receive social security which can increase the risk of conditions related to poverty such as infectious diseases due to lack of safe water. This contributes to higher morbidity and mortality rates due to these conditions. 
· Those who experience discrimination may be more likely to be socially excluded. This can contribute to a higher prevalence of mental illnesses including anxiety and depression. 
· Being discriminated against can mean that people do not feel that they belong to the community in which they live. This can increase the risk of self-harm and suicide, increasing morbidity and mortality rates among these groups. 

An answer worth four marks could be: 

Those experiencing discrimination are often not afforded the opportunities that others are such as employment and access to health care. Without employment, people are more likely to experience poverty which can mean that they cannot afford nutritious foods which increases morbidity rates due to undernutrition. Without access to health care, these conditions may not be treated which can increase the chance of the condition contributing to premature death which decreases life expectancy. 

4. a. Students receive one mark for showing an understanding of each concept. For example: 

Mean years of schooling relates to the number of years that average adults (aged 25 and over) received of formal schooling whereas expected years of schooling relates to the number of years a child entering the education system can expect to receive. 

b. Students receive three marks for making three points about what human development relates to. Points worth one mark include: 

· It is about creating an environment where people can have freedom and choices in their lives. 
· Ensuring people can lead long and healthy lives.
· Allowing people to have access to knowledge.
· Being able to access the resources required for a decent standard of living.
· Having opportunities to participate in the life of the community. 











c. Students receive three marks for discussing how mean years of schooling could influence human development. Three pieces of information should be included for three marks. Answers worth three marks include: 

· Higher mean years of schooling means the population has higher levels of education. This gives people greater choice in relation to the work they do which can mean that people are leading lives they value. With employment comes higher average incomes which increases the ability of people to purchase the resources required for a decent standard of living such as food and health care. 
· [bookmark: _GoBack]Higher mean years of schooling means that people, especially women, have more choices in the decisions that affect their lives such as if and when they get married, as they are not as reliant on men for their survival. It also means that they are less likely to be forced into dangerous jobs such as prostitution which reduces their risk of contracting HIV and increases their ability to lead long, healthy lives. 

d. Students can choose either life expectancy at birth or gross national income per capita for this response. They receive one mark for correctly identifying one of the indicators and another mark for briefly describing it, for example: 

· Life expectancy at birth relates to how long a new born can expect to live, on average, if death rates do not change. 
· Gross national income per capita relates to the average income (per person) generated by a country in one year.  

e. Students receive one mark for each point they make in relation to the limitations of the HDI in measuring human development for a total of two marks. Answers worth one mark include: 

· The HDI only reflects selected aspects of human development such as life expectancy, education and average income and therefore does not capture the richness and depth of human development. 
· The HDI, although moving beyond economic indicators, is still based on averages. Just because a country has a high GNI per capita, it does not mean that all people share in that wealth.  
· No survey data are collected in the HDI, so people’s feelings about their lives and issues facing communities are not reflected. Instead only data relating to averages in relation to education, income and life expectancy are included. 
· Collecting data is complex and the reliability of data for measuring human development remains a challenge. Some countries do not have the same high standards of data collection, so the HDI may not always be an accurate reflection of human development. 
· In some situations, the concept of human development has been equated with the three dimensions of the HDI, which neglects key aspects of human development including freedom, choices and capabilities.












5. Students receive one mark for explaining what is meant by social sustainability and a further two marks for explaining how it can promote health and wellbeing. For an explanation of the meaning, answers could be: 

· Social sustainability relates to an equitable society that meets the needs of all citizens and can be maintained into the future. 
· Social sustainability relates to ensuring that all people can access the resources provided in a society into the future. 

Answers worth two marks linking to health and wellbeing could be: 

· Social sustainability means all children will be able to access quality education. This can enhance relationships which promotes social health and wellbeing. 
· Social sustainability means that females will have the same opportunities as males. As a result, females will have more choices in their lives which can promote a sense of purpose and improves spiritual health and wellbeing. 
· Social sustainability means that people will be able to live in peaceful communities free from conflict. This reduces the risk of physical harm and promotes physical health and wellbeing. 
· Social sustainability means that all people are protected under the rule of law. This means that people are less likely to be discriminated against which can reduce stress and promote mental health and wellbeing. 

6. a. Students receive one mark for briefly describing the change in the number of armed conflicts between 2010 and 2017 and a further mark for the correct use of data. For example: 

The number of armed conflicts has increased over time, from around 80 in 2010 to around 160 in 2017. 

b. Students receive two marks for linking mass migration to physical health and wellbeing and another two marks for linking it to spiritual health and wellbeing for a total of four marks. Answers worth two marks include: 

Physical 

· Mass migration can mean that people end up living in a refugee camp. These camps are often crowded and may lack adequate sanitation which can contribute to increased risk of infectious diseases such as cholera. 
· Mass migration can mean that people do not have adequate shelter. This can expose people to diseases such as malaria which can contribute to ill-health. 
· Mass migration can contribute to food insecurity as people are not working or earning an income. This can contribute to lower levels of energy and decreased immunity, increasing the risk of disease. 

Spiritual 

· Mass migration means that people have fled their home and often, their country. This can make people feel that they do not belong to the world in which they live, impacting spiritual health and wellbeing. 
· Mass migration often means that people end up living in refugee camps. This can mean that children are not participating in education which can reduce their sense of purpose in life. 
· Mass migration means that people have had to flee their home and may now be living as a refugee or internally displaced person. This can mean that all of their normal activities such as work, are put on hold. This can mean that the person cannot live according to their values, such as providing for their family. 
c. Students receive two marks for each link they make between conflict and health and wellbeing. Note that students do not receive marks for linking to mass migration. Answers worth two marks include: 

· Rape is often used as a tool of war. This can cause significant emotional trauma to the victims, impacting emotional health and wellbeing. 
· Child soldiers may be recruited to fight in the conflict. This can contribute to high levels of stress among the individuals, impacting mental health and wellbeing. 
· People, including civilians, are often injured or even killed as a result of conflict. This can contribute to lacerations, fractures and organ damage, impacting physical health and wellbeing. 
· During conflict, infrastructure such as water sources are often destroyed. This can mean that people are forced to consume contaminated water which can increase their risk of infectious diseases. 
· During conflict, people are often unable to go to their place of employment. This reduces their income and can mean that they don’t have money for food which can contribute to low levels of energy. 
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DALY per 100 000 due to high body mass index




Conflicts	2010	2011	2012	2013	2014	2015	2016	2017	81	103	108	118	142	154	146	164	Year


Number of armed conflicts (total)
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